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QUESTION 1

HOTSPOT

You are creating a method that processes invoices. The invoices are contained in an ArrayList instance. After each
invoice is processed, the method must remove the invoice from the ArrayList instance.

How should you complete the code? To answer, select the appropriate code segments in the answer area.

NOTE: Each correct selection is worth one point.

Hot Area:
Answer Area
public static woid Process({Arraylist<String» inwvoices)
{
for (int i = w; i < inwvoices. v -
2 size() )
1 sizef] - 1 i=i+1)
size() +1
String invoice = invoices.get(i);
/f TODO: Process the invoice
invoices.remove(i);
¥
¥

Correct Answer:

Answer Area
public static woid Process({Arraylist<String> invoices)
1
for (int i = wi: i < invoices. - [; -
4] size() }
1 size() - 1 i=i+1)
sizef] +1
String invoice = invoices.get(i);
/f TODO: Process the 1lnvolce
invoices.remove(i);
I
i

References: https://beginnersbook.com/2013/12/java-arraylist/
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QUESTION 2

DRAG DROP

You attend an interview for a job as a Java programmer.

You need to declare a two by three array of the double type with initial values.

How should you complete the code? To answer, drag the appropriate code segment to the correct location. Each code
segment may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll
to

view content.

NOTE: Each correct selection is worth one point.

Select and Place:

Code Segments Answer Area
[[ 11: prEe | 1 (e |
double[][] maxArray = | | 8.77,3.4,55 | | 2.2,.845,2 | |
10 &
Tt H
1 || 1L

Correct Answer:

Code Segments Answer Area
‘ i 1T

E

i« x| 11
double[][] maxArray = L | @.77:;3.4,55 |¥*1 | 2.2, 845,92 fIa |

B

[a—
-
—

QUESTION 3

DRAG DROP
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You are writing a Java method that evaluates an arithmetic formula.

The method accepts an int value named number, raises the value to the second power, and returns the negative value
of the result.

How should you complete the code? To answer, drag the appropriate code segment to the correct position. Each code
segment may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll
to

view content.

NOTE: Each correct selection is worth one point.

Select and Place:

Code Segments Answer Area
“y 2 public static int negativeSgquare(int number) {
return | e il H Py
number + T e St HE 1] I e e S L DY B S s e St T el e Sl e |

i

I

Correct Answer:

Code Segments Answer Area
w1, 2 public static int negativeSgquare(int number) {
el t number % | number V3
x
number +

I

QUESTION 4
DRAG DROP
You have a Java class named InsurancePolicy.

You need to define a constant data member named RATE. The data member must be accessible by any class without
instantiating the InsurancePolicy class.

How should you complete the code? To answer, drag the appropriate code segment to the correct position. Each code

segment may be used once, more than once, or not at all. You may need to drag the split bar between panes or scroll
to
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view content.
NOTE: Each correct selection is worth one point.

Select and Place:

Code Segments Answer Area
finel finally ‘ public class InsurancePolicy
2 £ {
| private protected ‘
publie [static ‘ }
"hupl:l' ;UE ‘

Correct Answer:

Code Segments Answer Area
W‘ public class InsurancePolicy
|“prixate | protected ‘ {
public static | [Final
} i R

super void ‘

References: https://docs.oracle.com/javase/tutorial/java/javaOO/classvars.html

QUESTION 5

You work as a Java programmer.

You need to convert a numeric String to a primitive double value.
What code segment should you use?

A. Double.valueOf(numberString);

B. double.parseDouble(numberString);

C. String.parseDouble(numberString);

D. Double.parseDouble(numberString);

Correct Answer: B

References: https://www.javacodeexamples.com/convert-string-to-primitive-example/140
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double RATE = ,0642;

double RATE = ,0642;
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